
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/Jun22/1/1 All prices exclude GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Position 
Number 

Part  
Number Qty Description List price 

01a 8918 1 Pump Body B3KQ-A/ST  $1,070 

01b 8924 1 Valve B3KQ-A/ST  $231 

01c 8930 1 Inspection Door  $152 

01d 6013 1 Complete check valve $83 

01e 8936 2 Gasket Inspect. Door  $20 

01f P963 1 Filling cap gasket $8 

01g 6211 1 Conical Tap ½” Gas  $7 

01h 6209 1 Conical Tap ¼” Gas  $7 

01i 6261 4 OEB Screw M 10x20  $3 

01l 8976 2 Grub Screw M10x50  $12 

01m 8975 2 Complete Pin M10  $58 

01n H388  4 Screw M5x12  $2 

01p H911  1 Complete Wear Disc kit $165 

B3KQ-A/ST WITH 2.2kW ELECTRIC MOTOR  
Cat: EAR6 (3ph) / EAR5 (1 ph) 

REJUVENATION KIT  … SAVE ON BUYING INDIVIDUAL PARTS 

GREJK-B3KQ-ST2KW 
(R517) 

Includes check valve, mech seal, 
counterface, filling cap & trash port gaskets 
(items highlighted yellow) 

$224 

Position 
Number 

Part  
Number Qty Description List price 

02 9566 1 Impeller B3KQ-A/ST  $413 

03 8660 1 Motor Mec90 3HP 230/400V  poa 

03 8659 1 Motor Mec90 1HP 230V.  $1,526 

03a   1 Motor support poa 

04 6781 1 Mech. Seal 16-32-13  $208 

05 6346 1 Counterface S 5645  $33 

06 6029 1 Flex. Gasket B 2618  $9 

07 F156  1 Stainless Steel Key B 4x4x16  $7 

08 6162 1 Washer 8x17x1.5  $3 

09 7103 1 Brass Nut M 8x1.5  $6 

10 6235 4 T.E. Screw M 10x18  $3 

  5480 2 Flex. Gasket B 2618  $9 


